THAFERE
HE/NERR 8T —RJ—)LHE (SSA)

Eh[E1 2K SmA
H OE £ A = STEI[EI 2L E¥S A
5 FH| t |B-%| EHkg| :

1 == B 2 = |E5 9 8 8 94 12
t-BE-HE- - AWLREELEEF—TICLT

2 & [Ed] Z T |B4EFL2A0EEEN, BLIZFR 9 9 8 1 197 22

INRT B,

3 7K 7K 2 = |RpgE 6 4 4 65 16

4 = = AN A | EREERUS—LA 14 13 12 1 131 10

5 g5 Bk 2 T |EBEERVS—L 10 9 9 73 8

6 5= Ex 2 T |EREER 4 0 0 0 0

7 FTP7V—T429 HE [EREERUEERS 14 16 4 11 1 190 12

8 K bl 2 = |[fekigE 8 8 8 43 5

9 A & B2 727 B 5 & |BE&E&EHA 8 6 3 3 80 13

10 (N & S = G - 0 3 3 23 8

11 RN —FZHEEAS |EEHH—FEY 6 7 6 1 112 16

12 =] Bk 20 = 8 16 11 2 3 167 10

13 B F 2 = 4 0 0 0

& & 100 99 ol 72| 15 12| 1,175 12




